Name: kea/
Algebra Il —fest 1
9/21/2016

1) Name the following Venn Diagrams

AN g’

b)

2) Shade in the following Venn diagrams for the names given.
@ a)A'NB b)A'n B’
)7

Axell xez he
3) Solve, graph, and write your answer in interval notation for the following inequalities.

5\ )2x+9<20  cos—> > 10 Tr2e Ca
'f’)\ 6 —3x27 ___ai\;gy .
@ GEPA! xoaq 2
— - —-10>
c) 257x+15) <14 2 o) |d) 2x +9—10 > 3(9x + 16) (et
~lUx 302 14 = - 2 ‘%7,\( +7E 7 A7
+3e  I¢ B . ~{q
—_—T . et _ : x& L Ve
=l MY X > ‘3-;: & 2y a2 Ax 2 !f
4) Matching! Write the letter next the bracket that matches its description.
_ E.’ Square Brackets A) Brackets to hold your braces together
A\
@ C Curly Brackets B) Used in interval notation which means to
exclude the endpoint
,é]( Dental Brackets C) Used in set notation to represent a set
!5 Round Brackets D) Used in your house to hold a piece of
wood to the wall
p Shelf Brackets E) Used in interval notation which means to

include the endpoint



5) Your mother gave you $20 to go to the mall. You went to a movie for $6. Then, yoh wanted to
go shopping.
X+o <20

-
@ a) Write an inequality to represent your situation. i
x&i{  Cel]

b) Solve your inequality and write you answer in interval notation.
¢) Write the interval that makes sense to you AND explain your reasoning.

B 97 K Canpet  sped (- ﬁ(

6) Find the equivalent sets for the following:
@ 2){2,3,4,5} N {2,4,6,8} b){2,3,4,5} U {2,4,6,8}
$,%5 2018 6 57
7) Write the following in words. Do NOT solve it. 4 4 ‘
DX+5210 X ples S Dpater | DX —1<6 Fhne X g
g‘ - cr cgual de O -

e
X
V=324 £ ovmius  x diidd by 3
3 greater than -4

3 fess Hhe,

d)7—XS8 7 mﬁ;!ug X J-\S

less Fh o
T Crual g z

8) Solve, graph, and write your answer in interval notation for the following inequalities. Be sure
to show all your work!!! Leave your answers in the simplest fraction form.

@ a) —(6x+6)—5>1—6x

“x-b-5> (-6x
=it > { ne  Seln,

b)—1+5x<3x+2x
1< 0 Al seuls,
(-co.)

9) Solve, graph, and write your answer in interval notation for the following inequalities.

. a)x—6<5x—10ANDx <3 c)x 240R2x+7<x+10
(1
b)4x+9—-2x>x+40Rx+1>0 d)5x—7-3x<—-17AND3x+3>0
< Hx

{ 3 .
;E“; 3J éooj 3‘] u [‘{/ &O/
—

X2>2-5 o~ Xx2-| 97?71‘_/7 X2~

o—— ax <o a{

o—> ~
o> X< % CM ’
D //z%



(%

©

Name: J’ 2./
Algebra Il — Test 2
10/18/2016

1) Identify the independent and dependent variables in the following scenarios.
a) The more questions I put on atest, the more problems you get wrong.

s

b) Your IQ goes up as you take more classes.

————

¢) There are fewer seats to sit in as students come to class.

d) As the cold weather settles in ND, the more animals go into hibernation.

2) What is the domain and range of the following graphs?

v ‘ o3 | ” D:[-6,3]
. RS JEts R,

7 A D (%7 P e
A N koo

3) Are the graphs from #2 functions?

a) yes b) yg’s C) e d)/f_},
4)
a) With a power to a power, you £, I sthe exponents. (ex. (x?)3)

b) When writing a number in scientific notation, there should be /  digit/s before the
decimal.

¢) When multiplying with the same |2 < , you keep the base and f

eX f;mmﬁ
d) With domain, you always need to check for two things:  (—) undera __/

and >¢,v inthe deqom /natrof a fraction. Otherwise the domain is automatically:

(=, &2 )




©,

B

5) 1 pay $10/month for AmazonPrime. I also rent movies from Amazon that cost $3.99 for a

month’s rental of the movie.

a) Write an equation that represents how much I will be charged each month by Amazon.
Llx)y=tlo+ 399,

b) How much do I get charged for renting 5 movies in one month?

{(s) = @=s"

6) Find the domain of the following functions: -~ adA4e-
) f() = Tx-l4=¢ b) f(x) = x* +4
x> o (~ b )
©) f(x) = _ 490_83x 70‘3)( £ O d) f) = —50+10x 3x +6<¢
~3xe-q0 o P <2 EAT—4>
—re® o s 3

X3 3, U5, )

?).Graph and _write the following as an inequality: all reals that are greater than 5 or less than 3.

8) Write an absolute value inequality to represent the following:
a) A specific deer has legs that start at 1ft long and can grow to 4ft long.

X5 <] s
| sy [X-2.5) <) s

b) oY ——— LA

0 I }Y'S_'/Z $

9) Simplify the following expressions. Leave your answers in exponent form with positive

exponents.
15x°%y° 11
. 20x*y® b) 7‘ﬁh
c)}}qxgy* «32x5y~10 d) (3x%y3 « x2)°
| - 2
’F/_ - 1y iaf gG )
A [47%ce,

é{yQ



Name: f( €y’
Algebra 1T £ Test 3

11/22/2016

1) R

a) With radicals, we do not want a Q in the , and we do not want a
E/ in the .;' i .

@ b) When dividing with the same @5& , you keep the base and _ Syffrac £ the
63Me.1'ﬁ.

¢)Intheradical ¥V ,4isthe  ‘agfec .Wesayitisa ¢ for |  deal.

2) Simplify the following expressions. Leave your answers in exponent form with positive

exponents.
15x°y" 2 X 2 11
0x4y® 7y ( ) ( - 75"5“
Q€ Ix’y* » 325y | d) (8393 + £2)°
‘ ._.J ] ik
7z /

3) Simplify each polynomial expression. -

a) 3x3€§$+ 5 +Z_£3 - 4x26 9 b) (—x2 y2) + (H2y? -Ec_f + xy?)

@ —27x7 Hlox3 —gx>+5 —AX: by pxty —xyd
c) —20x — 16x + 7y — 15x d)-2x +11-10
~SIx+7 “AX #)

Ty

4) Classify the following polynomials by their degree and number of terms.

._ a) 7 4 x? ?WJV‘*'L'I‘C b) x + 6* linear
@ b}n&m a ’ bfh&*m{é; /

3 4
¢)x” + 3x Cubic d)2 ( onsfant
b:‘ﬂ&-ml‘g’ m"”‘lﬁ'/-




®

®
(1)

5) Rationalize/simplify the following radicals.

8 % 7 Y’
2[1-3 L3 b=
-t RV
a) \/;,3 3 Vx X X
1 _-L " Y
©) 3= v 2=
ﬁz d D |51 7
2
3 3
6) Fill in the missing number to make the equation true.

2)325 = 16 &3 =, X =g

7) Simplify the following radicals.

2) Y/ ™ Xy Uy b Y3258
_ A4

54,3 N 5 1
IV y*xly 6 X !yli)r d) (64x31y%)s

¢ ¢ AXy®

g
S

lxgy W

8) Put the following polynomials in standard form and identify the leading coefficient.
a) 9x” + 3x* — 8x° LC l b) 6x% — x* + 8% — 3x* + 2x1°

AxOo3y? —x7 +ox> rg°

—xT+ax7 +3x ¥ =2

9) Multiply the following polynomials.

a) (2x + 4)(x? — 7x + 3) |b) (x — 1)(2x3 + 5x — 8)

Xx2-1ox *=20X HIX

2Ax?

x> ESX = 13x 4ty

_32
¢) (x —3) Xl—éx*”i 1

X =7x 43

d) (3x2 = 7)(6 — x)
PEX™> —3x >—=Y N +7x

. 3y He
2[00 T e x 3x7 HE> +7x 9%

>l gl 1

Lo

2



Name: tésf
9/2/2016 ¢
Algebra II Quiz
1) Name the following Venn Diagrams

(48’

a) b)

2) Shade in the following Venn diagrams for the names given.

a)A'nB b)A' N B’

g .
3) Evaluate the expression: (?(3’+ 5)2—4 i‘@

4) Give two different ways of saying the expression: 3 — x

a) 3 }ﬂ)ﬂqf X

b) 3 Sabfect x
5) Matching! Write the letter next the bracket that matches its description.
£ Square Brackets A) Used in set notation to represent a set
Curly Brackets B) Used in interval notation which means to
- exclude the endpoint
ﬁ Round Brackets C) Used in interval notation which means to

include the endpoint

6){2,3,4,5}n{2,4,6,8} {2/ ;_{/?

Bonus: Who am I, who am I married to, what do 1 do, and where do I live?

b, ” Hoone. Ms’fé)ﬁ,

S




Name:

9/8/2016

Algebra II Quiz

1) Evaluate the expression: (Z{ +5)2 -4

gts
(37 —Y 21165';

2) Solve, graph, and write your answer in interval notation for following inequality: =13 < —2x + 9

-q -7
[ S
B e
. .. o —_~ A
3) Write the following inequality in WORDS: t +3 < 8
2 x -, 1
jé ’das 3 i3 less  thaa 5/ o ég%%i}
t1
4) Solve, graph, and write your answer in interval notation for following inequality: 2x +5 > 9
—5 -5‘*
ax 24
: ENEY
5) Shade in the following Venn diagrams for the names given. X2 X ey
a)ANB b)AUB =

<D

6){1,2,3,4}U{2,4,6,8}




Name: Key
9/16/2016 /

Algebra 11 Quiz
1) Solve, graph, and write your answer in interval notation for following inequality: 2x + 9 < 20

<t (5]

-3x-12
2) Solve, graph, and write your answer in interval notation for following inequality: xﬁ - > 10
@“’_‘%—9 352> to
(= o0,-24) By 27
3) Solve, graph, and write your answer in interval notation for following inequality: i~ 2Y
—2x+9—-10 = 3(9x + 16)
~e) 2 27x+ Y 44> 2% e
FAx-YE x4y ol 29
A Corr—2
4) Solve, graph, and write your answer in interval notation for following inequality: 7—y > 5 —y E_ac} +_‘g_’]
29
—l 69
5) Solve, graph, and write your answer in interval notation for following inequality
a)5<4b—-3<9 &<, 212 2L bez
e [2,3)
b)x+2<-20Rx—-2>2 2 3
X <Y x>y Ge—b% an)—‘{)(/(f‘b@")

..._'z' ’
6) Translate the following into an inequality: lf-{our more than twice a number is greater than half the

number. n
AXFTI 23X




Name: Kéy/

9/30/2016 (

Algebra I1 Quiz

1) I pay $10/month for AmazonPrime. I also rent movies from Amazon that cost $3.99 for a month’s

rental of the movie. R ;
a) Write an equation that represents how much 1 will be charged each month by Amazon. —+—{x) = 3. <
(=378 iy

b) How much do I get charged for renting 5 movies in one month? %3
795

2) What is the domain and range of the following graphs? Are they functions?
b) T % o
03] " T 0 (~esen
\ .
REs-n , R-Le=)

Vi EhoSuE )  Ves.

3) Identify the independent anariables in the following scenarios.
a) The more guestions T put on a test, the@ore problems you get wrong—

b) Therto sit in as students come to class.

4) Write an absolute value inequality to represent the following:

a) 7 —
° [x~5]= &

b) All real numbers less than -1 or greater than 4. 3 -
i -2 = s

5) Solve the followmg mequalltles graph your answer, and write it in interval notation:

‘ [3x —8| =4 Px-g> Y =3y tg 2 Y
W, ]Uf?“i‘/\ x2Y Sx 2y
6) Solve the following mequallties graph your answer, and write it in interval notation: X 4 1_1
e [2x +4|-3<9 7
0
éfﬁgmﬁha |2ty ] <14
-%4) AXFIEIN “dx-y< 1)
Ax<¥ 22l

X =Y X7=¥



Name: K&/
10/7/2016 ¢

Algebra I1 Quiz
1) Find the domain of each of the following functions.

_xm o XD
V=55 Lo

X-z-__-a a.):. -;...
b) f(x) =v/3x+ 6 [-_;1 ) =
)

2) What is the domain and range of the following graphs? Are they functions?

a) £ b) J 5
. : - 7
D[, 33 A 2, 7]
yanm.vull AN T
R L ) AR
. e
- r a
IR S
A
1
L L J
3) Identify the independent and dependent variables in the following scenarios.
a) The more questions | put on a test, the more problems you get wrong. I: (Z'Méj;‘p"s:-ﬂ S
b) There are fewer seats to sit in as students come to class. 0. wrone
T2 Students 4
. seats.
4) Write an absolute value inequality to represent the following:
a) A Lo
?‘ o } X~ f’ Fan 3
-2 Y

b) All real numbers less than -1 or greater than 4.  &46—da
i -y

5) Solve the following inequalities, graph your answer, and write it in interval notation:

M |3x — 8| = 4 3x-52 ¢ -3x+ﬁ(f?
%o UL xzY x <t

6) Solve the following inequalities, graph your answer, and write it in interval notation:

12x +4] -3 <9
3 (—'Z,Lf)

!.Q;r{-‘f,Lfl anof

E—rr >
QX+ L1 ~Ax-Y “13 =

X<y X7-¢



Name: K Cy/
10/14/2016"
Algebra II Quiz

1) Find the domain of each of the following functions.

wfa)=m£1_—ﬁE¢3¢uE*QW5 b fO)=x3+4 _

—50+10x
% XL.A

'EXY W

G,

2) What is the domain and range of the following graphs? Are they functions?

a)

2

FnY
a2ty

P Ly, s)

R12,8) A

yes.

b)

p-- EJ{:’,‘ Bj
R[5 EB el

Jes ]

3) a) With a power to a power, you '-_, the exponents. (ex. (x?)?)

b) When writing a number in scientific notation, there should be [ digit/s before the decimal.

c) When dividing with the same ) , you keep the base and _ Supforyrt  the  Slperess,

d) With domain, you always need to check for two things: CH—") undera  ~wliteq/ and
22,0 inthe ofe/wm,;»;g fe,~of a fraction. Otherwise the domain is automatically: (=0, &8 )

4) Simplify the following expressions. Write your answers in scientific notation.
a).42 10! =37 = 10710 (12345678+10730) AAXBE yio't

!
Is:s1x (O ) —
9876543210~ '
Zis"s*? xip? * Ldsxip
5) Sin;iplify the fol]ovgv_ing expressions. Leave your answers in exponent form with positive exponents.
15° 3x

off 153°° , b),2%%%y* * 32x5y~1
20xty° 1y g of

)

72,
Te

6) Simplify the following expressions. Leave your answers in exponent form.
a) (4x3 » x8)* 6 |

o(m) &

‘fq)('w




Name: F%Y;

10/28/2016  °

Algebra 11 Quiz

1) Simplify the following radicals.

a) V32 43 b) 1/81x8y3 3)(-35/_ e

2) Simplify the following radicals.
a) Y1250 p— b) Y—80x7

VDY P I
>V ""D~X 330,;(

3) a) With a power to a power, you Mul#iy  the exponents. (ex. (x2)3)

b) When writing a number in scientific notation, there should be [ digitﬁ{z}me the decimal.

c) When multiplying with the same _ Jz $¢. , you keep the base and the c?,igﬁwmf-?ff.
d) In the radical V , 4isthe ;4apeg .Wesayitisa ¥ for [/  deal.

4) Simplify the following expressions. Write your answers in scientific notation.
11 -10 —30 .
a).42 10 « 37 =10 N (12345678+1073°) i g_? x0
1,874 X0 98765432+10740

5) Simplify the following expressions. Leave your answers in exponent form with positive exponents.

a 2142:_943:59 I x13 b) 23x%y* x 32x5y~10
g Xyt 7Ax "t
6
6) Simplify the following expressions. Leave your answers in exponent form.
a) (4x3 = x8)* ['i *-f)(;fq ' b) 2 x_3ysz_4

_Ay®
X224




Name: K'ﬂ‘/

11/4/2016

Algebra II Qulz

1) Simplify and rationalize the following radicals.

7 U7 3/ 5 yF
D16 ~ y ®) \[27%° 3x°

2) Simplify and rationalize the following radicals.

32X b XX L T
> 1y 2 \/4x XX
2¢ 22%x  Ax X X
3)a) Wlth radicals, we do not want a v in the Té?‘ , and we do not want a

5 in the ,}
b)lntheradlcal\/_4lsthe inoles We say itisa (1’ for l deal.

4) Simplify the following expressions. Write your answers in scientific notation.
a) 5.32 = 1015 % 0.37 » 10720 (12345678*1m s x 1o

L 9cg Xl ®) 98765432*1(3<§D/

5) Simplify and rationalize the following radicals.

12x5 Y Sl)f 3yT0 <x /;‘_?
a)\j 737-7">/ N 7y VX )?V_X %‘f‘. 7

6) Simplify the following expressions.

a) 1&4% + 243% _ t b) 93 35 :@

1 3 3




Name: K ey
11/18/2016 7
Algebra 11 Quiz

1) Classify the following polynomials by their degree and number of terms.

a) x2 +3x — 2

v—tumt'??z FHe

%fham;’b-f

3 4 :
b)x®+6% binempy).

2) Put the following polynomials in standard form and identify the leading coefficient.

a) 7x3 4+ x — 5x6

~SX*P+7x7 +x

3) What does F.O.1.L. stand for?

«Pf’rs‘l-f Q‘:,d‘c‘:r/ s‘ane// laest.

4) Multiply the following expressions.
a) —2x(x = 3)

X1y
5) Multiply the following expressions.
a)(x+2)(3x—1)
3x Sy -2

6) Simplif polynomial expression.—.
a) 4m3(& 7m* - 2 + 2m3 — ZmZ@

3 b 3>y

=5

b) 5x% — x° 4+ 8 — 3x3 + 2x

Xo=3x7 poxt Fax 48 <

b) 2x%(x3 + 5)
2x5 4 iox™

b) (x — 2)(x? + 2x — 3)

X =7x +

I b) (=x? + 9xy — 2y) + (4y T 2x% + 14xy)

—3x— Sxy —y




Name: Key
12/2/2016 7
Algebra 1l Quiz
1) In the experiment, each nut weighs 3.2g and each bolt weighs 7.7g. Answer the following questions
concerning the experiment.
a) If you start with 15 nuts on the scale and take off 3, how much will the scale read? 3%, ¥
b) If you put 10 bolts on the scale, how much will the scale read? 77y
¢) If you put 4 nuts and 9 bolts on the scale, how much would it read? 2./
d) In the experiment, we came up with an equation to represent the data: y = —;?’;.Zx + 37.08
i) What did 3.2 represent? ~nas; of ( nwt
if) What did 37.08 represent? ssss of 1A nubs ( to sl )
iii) Why is 3.2 negative? takiy  Fhem  ofL,
2) Classify the following polynomials by their degree and number of terms.

a) 7x* Cabic  monemial b)5x? —x° +8=3x% +2x TR polynenyy
) ‘ weith §T e,
3) Fill in the missing information. it
Function Notation Name Graph
szudm%‘c — T
f(x) = x2 v g
~F: [)() VX Square root
T
[
|
!f
3 S P
-CC)(): )( Cg,';?s[. !r [
4) Multiply the following expressions.

2) (x=3)* X -6x +9 ’ BE+5)?  xTtiow 425

5) Multiply the following expressions.

a)(x+2)(x—2) ){‘ib{

’b)(x—4)(x+4) Xl_ 6.




